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SECTION A
Answer ALL the questions
1 | Match the right answer. 5x1=95)
a) | Doing Gender — Sarah Fenstermarker Baker K1 | CO1
b) | Productive Deprivation — Candace and Zimmerman K1 | CO1
¢) | Sociology of Sexualities: Queer and beyond — Esther Boserup K1 | CO1
d) | Gender Factory — Raewyn Connell K1 | CO1
e) | Gender as social structure — Gamson and Moon K1 | CO1
2 | Choose the right answer. 5x1=5)
2) Gender is not simply an aspect of what one is, but, more fundamentally, it is something 2 | cot
that one does. (a. True || b. False)
b) | The socially agreed upon biological criteria (a. Sex || b. Sex Category || c. Gender) K2 | COl1
The motherhood penalty affects (a. wages || b. ability to get hired || c. evaluations and
c) : K2 | CO1
promotions || d. all of the above)
d) is a process by which individuals develop, refine and learn to do gender. K2 | CO1
e) | The application of role theory to gender is perfectly linked. (a. True || a. False) K2 | COl1
SECTION B
Answer any THREE of the following in 500 words B x10=30)
3 | Explain with an example the process of recruitment to gender identity. K3 | CO2
4 | Feminist sociology is deeply interdisciplinary — Interpret. K3 | CO2
5 Illustrate‘how sales and consumption of alcohol is a space of display of power and men’s K3 | con
community.
6 | Briefly explain ‘Productive Deprivation’ K3 | CO2
7 | Discuss Stein & Plummer’s four hallmarks of queer theory. K3 | CO2
SECTION C
Answer any TWO of the following in 500 words (2x12.5=25)
8 | Individuals are born sexed and not gendered — Analyse the statement K4 | CO3
Ilustrate how feminists have reshaped gender in various spheres of life. K4 | CO3
Analyse motherhood penalty in Indian context. K4 | CO3
‘The pleasure of the body’ cannot be separated from the world outside. - Justify K4 | CO3
SECTION D
Answer any ONE of the following in 1000 words. (1x15=15)
Appraise the social implications of the revisionists’ accounts of the egg and the sperm
12 | 5. . . K5 | CO4
discussed by Emily Martin
One of the most important bastions of male power is the institution of the traditional
13 . K5 | CO4
panchayat. — Appraise
SECTION E
Answer any ONE of the following in 1000 words (1x20=20)
Explore the socio-historical background of gender inequality in families and formulate
14 : K6 | CO5
strategy to create equality.
[Nluminate on the heterogenous characteristics of globalizing labour practices and their
15 . K6 | CO5
gendered dynamics




